UBI602 Homework #9
Due date: May 12th, 2014
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3.  Design a simple algorithm for checking whether a given marriage matching is stable and determine its time efficiency class.
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1. Consider an instance of the stable marriage problem given by the following.

A B C
@ 1322 31
£ 311322
y 22 31 13

For each of its marriage matchings, indicate whetherit s stable or not. For the.
unstable matchings, specify a blocking pair. For the stable matchings, indicate:
‘whether they are man-optimal, woman-optimal, or neither. (Assume that the.
Greek and Roman letters denote the men and women, respectively.)
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